
B2 / 900 B021
Loop Circle
Loop Arc
Loop Line
Loop Corner
FitStation
Satellite

117mm

454mm

117mm

4mm

30mm

254 mm

80mm

Ø12mm

30mm

Ø12mmM10 x 12

B2 / 900 B020
Loop Circle Light

119mm

450mm

119mm

8mm

30mm

230 mm
Ø12mm

30mm

Ø12mm
M10 x 16

50mm
50mm

80mm

Loop Circle Light 30mm

4mm

250mm

230mm
50mm

Ø12mm

Ø12 countersunk

Ø12 countersunk
Ø12 mm

30mm

M10 x 12

B3 / 900 B030

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH

B3 / 900 B031

4mm

100mm

124mm

12mm

40mm

220mm

80mm

22,5mm
Ø12mm

Loop Circle
Loop Arc
Loop Line
Loop Corner
FitStation
Satellite

M10 x 12



B6  / 900 B061
Loop Line

40mm 40mm

395mm

80mm

Ø12mm

155mm

124mm

124mm

12mm
4mmM10 x 12

B5 / 900 B051
Loop Line

4mm

154mm
108mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm

77mm

M10 x 12

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH

B4 / 900 B040
Loop Arc
Loop Line 
Loop Corner 4mm

20mm

220mm

80mm

Ø12mm

35mm

M10 x 12

B8 / 900 B083
HopOp500 
(Light)

124mm

424mm

124mm
16mm4mm

80mm

40mm

664mm
22mmØ12mm

Ø12mmØ12mm 61 mm

M10 x 12



300mm6mm

110mm80mm

110mm

Bottom

Position #1

B10 / 900 B100
Boa

80mm

30mm

40mm
230mm

40mm

40mm

30mm
Ø9mm
countersunk

Ø12mm

M10

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH

B11  / 900 B110
Loop Cone
large diameter 
upwards ! Ø12mm

40mm

14mm

20mm

80mm
4mm 95mm

95mm

Ø12mm

104°

M10 x 12

M10 x 12

B9 / 900 B092
HopOp500 
(Light) 23mm

600mm

22mm

80mm 104mm474mm

Ø12mm Ø12mm

Ø12mm
86mm

67mm

67mm
4mm



B13 / 900 B130
Loop Circle + Loop 
Cone

45mm

20mm

478mm

258mm

12mm

131mm

4mm 347mm

80mmØ12mm Ø12mm
104°

M10 x 12

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH

B12 / 900 B120
Loop Cone
small diameter 
upwards !

76°

20mm

19mm Ø12mm
Ø12mm 40mm

4mm 80mm
90mm

90mm

M10 x 12



HopOp500 w. Loop Cone Table

Loop UP w. Loop Cone Table

2x
900 B142

6x
900 B140

18x
M10 x 12 bolts

6x
M10 nuts

M10 x 15 
threaded stud

Ø15mm
R120mm

V= 15°

153,4mm
40mm

R99,3mm

R80mm

4mm

21mm 
from center 12mm

4mm

B14 / 900 B140 Loop Picnic H. 500

104°

M10 x 15 threaded stud
1044mm

30mm

247mm

40mm 80mm

30mm

65mm

107mm

320mm

7 mm6mm

30mm20mm

B14 / 900 B141 Loop Picnic UP

M10 x 15 threaded stud
R6mm 1100 mm

30mm

30mm30mm 210mm

40mm 80mm

20mm 20mm20mm 20mm20mm

65mm

107mm

380mm

18mm12mm

Item list (900 B140)
6 pcs. M10 nuts
18 pcs. M10x12 bolts
2 pcs. 900 B142 bracket
6 pcs. 900 B140 bracket

Item list (900 B141)
6 pcs. M10 nuts
18 pcs. M10x12 bolts
2 pcs. 900 B142 bracket
6 pcs. 900 B141 bracket

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH



45mm

B15  / 900 B152
Loop Up
(Light)

M10 x 12

43mm

Ø13mm40mm

625

340mm

135mm
4mm

80mm

B16 / 900 B162
Loop Up
(Light)

M10 x 12

43mm

Ø13mm23mm

606mm

118°

104mm

72,5mm

80mm

4mm

355mm

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH



LOOP CONE TABLE / 180 0108 (Ø380)

1x
M6x24 bolt

M6 nut

6x
M10 x 12 bolts

3x
M10 nuts

28,2mm

Ø33,1mm

1x
178 9012

35mm

Ø40mm

1x
178 9013

28,5

4

77,2

R5

ø12

ø12
Slot96,1

34

30

Ø
20

2 30

91,3

3214
R6

Ø
7

3x
180 9011

1x
180 9012

Item list (180 0108)
1 pcs. M6x24 bolts
1 pcs. M6 nuts
6 pcs. M10x12 bolts
3 pcs. M10 nuts
1 pcs. 178 9012
1 pcs. 178 9013
3 pcs. 180 9011
1 pcs. 180 9012

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH



R1 / 900 R100
Loop Lys
Loop Arc
Loop Line
Loop Corner

100mm 8mm

LOOP CONE TABLE / 178 9014 (Ø700)

3x

35mm

Ø40mm

540mm

30mm

19mm

4mm

Ø7mm 79mm

70mm

40mm

11mm til centrum
11mm 
103,5°

Ø11mm

4mm

6x
M6x24 bolts

M6 nuts

3x
M10 x 12 bolts

R2 / 900 R200
Loop

M10 x 40

25mm

130mm80mm

28,2mm

Ø33,1mm

3x
178 9012

3x
178 9004

3x
178 9005

3x
178 9013

ø10

Item list (178 9014)
6 pcs. M6x24 bolts
3 pcs. M6 nuts
3 pcs. M10x12 bolts
3 pcs. 178 9012
3 pcs. 178 9013
3 pcs. 178 9004
3 pcs. 178 9005

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

EXTERNAL BESLAG/BRACKETS

UPDATED 18.04.2023 MH


